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= 2, then what is the value

6a 3b 15¢

of Lthe determin_ant 21 m 50 | 7

2p g br
(a) 10
{b) 20
(c) 40
(d) 60

Let X be the set of all graduates in India.
Elementis x and y in X are said to be related if
they are graduates of the same university.
Which one of the following statements ‘is
correcl ? o

(a) Relation is symmetlric and transitive
only. :
(b) Relation is reflexive and transitive only.

(c) Relation is reflexive and symmetric

only.
{d) Relalion is reflexive, symmetric and
transitive,
If x% + y2. = 1, then what is M
1+x—-1y
equal to ?
(a) x -1y
(b) x +1iy
(c) 2x
(d) -2iy
Consider the following statements :
-
1. For any three vectors a , b, C ;

2 . ib +¢)x(3 +b +c)=0

2.  For any three coplanar unit vectors

d,2,7;(d xe).f =1
Which of the statements given above is/are
correct 7 '
(a) 1 only
(b) 2 only
(¢ Both 1 and 2
{d) Neither 1 nor 2

Directions :

For the next 3 (three) questions to

follow : ’ -

7.

{2 -A)

Consider the following lists :

Bach item under List I is associated with one
or more items under List I1.

List I List IT
{Function) ' {Property)
A sinx Periodic function
B. cosx Non-periodic function
C. tanx Conlinuous at every point

.on (- =, o)
4. Discontinuous function

5. Differentiable at

every
point on (— o, ) '

6. Not diﬁerenﬁiable at every
point on (— e, )

7. hasperiodn

| 8. has period 2r
9. increases on (0, n/2)
10. decreases on (0, n/2)
11. increases on (a/2, n)

12. decreases on (7/2, )

A is asscciated with

(a) 1,83,5,8, 9,12

(by 2, 4,6,8, 10,11
(¢ 1,3,5, 17 10,11
(d) None of the above

B is associated with

(a) 2,358,912
(b) 1,3, 5,8, 10, 12
© 1,358,912
(d) None of the above

C is associated with

() 1,4,6,7,9 11

(b) 2,4,6,8 9

(¢ 1,4,6,7,9

(d) None of the above.
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6a 3b 1be
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(a) 10 '
(b) 20
(¢) 40
(d) 60

4 difse B uRa ¥ T el @ e X 2
X & ¥ x AR y wafoa o2 7w € afe 3 3=
freafdacm @ ow € | FoafoRea 8 @ o @
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(a) we aw wui AR HETE R |

(b) W dad wWged Rk dEmE R |

(¢) Wy &ant waqed iR wAiE @ |

(d) e Faged, wmma iR Jems 2 |

1 .
L2174 x2+y2=1, ar - rrry DA TR ?

1+x—iy.
@ x-iy + X~y
(b) x +iy
- {¢) 2x
(d) -2y
R
. Frafafee s w frar difswe

1. ﬁﬁﬁiﬁ?ﬂ%&ﬁ?.ﬁ,?ﬂi%ﬁ;‘
2 .{b +C)x(a +b +TH=0

2. &2 &= wuacho gEs wice
3,3,? E%E:(Ex?).?:l

aRfefag sual # e @y w @ & »

(a) ®ad 1

C(b)  ®ad 2

() 13k 2&Ht

(d)‘qa‘uaﬂzaé‘sz

(3-A)

B - 3 3 () we T & B -

fFrafafaa gl w e e - _
i 14 Rean gan wedes weter g 11 & o were
a1 Uit weAe I et 2 |
SCi gt 11
(%) )
A, sinx 1. 3nadi e
B. cosx 2. 3@l Ber
C. .tanx 3. (—W,m)%ﬂﬁﬁﬁiﬁﬁﬂﬁﬁﬁ _
4., JGAT B
5.

(~=, ») & TS 4§ W
NAHAT -

6. (—wo, =) ¥ TG g W
NFHAT AR

7. dd® n el &

8. 3NTH® 2r &N &

9. (0, n/2) W aeHH &

10. (0, 7/2) TR gIEAM &

11. (n/2, 1) W aefae &

12, (1/2, 1) W A ¢ -

A 5 /fom @ wafem & 2

(@ 1,835,809, 12

(b) 24,68, 10, 11

() 1,8,5, 17 10,11 |
(d) wRefaa 3 A B 7

.- B frufeT Q gafug 2 ?

(a) 2,3,58,9, 12

(by 1,35 8, 10, 12

(¢ 1,3,5,8,9, 12

(1) oRfaRea & ¥ 3% 6

C foa/fes @ wafua @ 2
(@) 1,4,6, 7,09, 11

(b) 2, ,4,6,8 9

ey 1,4,6,7, 9

(@) aRfaRaa & ¥ & @



If p and q are positive integers, then which

8.
one of the following equatlons has p ~ yq as
one of its roots ?
(a) x2-2px - (p>-q) =0
(b) x2-2px+(p?-q =0
(c) x2+2px—(p2—q)=0
(d) x%+2px+(p>—q) =0

9. Given two squares of sides x and y such that
y = X + x°. What is the rate of change of area
of the second square with respect to the area
of the first square ?
(a) 1+ 3x + 2x*°
(b) 1+ 2x + 3x>
(¢) 1-2x+ 3x2
(d) 1 -2x - 3x2

10. The planes’ px + Qy +2.-3=0 and
2x —y +z + 2 =0 intersect at an angle
n/4. What is the value of p? ?
(a) 24 '
(b) 12
{c}) 6
(dy 3

11. The growth of a quantity N({t} at any
. N dN(t) .
instant t is given by Tl o N(t). Given
that N(t) = e®, ¢ is a constant. What is
.t.he value .of a ?
{(a) ¢
(b) k
(c) c+k
(d c-k

' Q-OEBA-K-NBU

12,

13.

14.

16.

(4-A)

&

A circle is drawn with the two foci of an

2 2
X
_+y

ellipse Z F =1 at the end of the

diameter. What is the equation to the circle ?

(a) x*+y2=al .+ b?
{b}
(@ x2+y*=2(a®+b?

(d x2+y?=2(Z-b?

x? + y2 = a? — b2

What is the image of the point (1, 2) on the
line 3x+4y-1=0 ?

(a) (—Z, —9]
5 5

(b) P,ﬂ
3 32

If the product of the roots of the equation
Z_b5x+ k=15 is -3, then what is the
value of k ?

(a} 12
(b} 15 3
(c} 16
(dy 18

Consider the following statements :
1. Every function has a primitive.
2, A primitive of a function is unique.

Which of the statements given above is/are
correct ?

(a} 1 only

(b) 2 only

(cy Both1land 2
(d} Neither 1 nor 2
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11.
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: /’

Tl A A A @ p- Ja &2

(a) x2—2px—(p?—q) =0
(b) x2-2px+(pl-q)=0
(c) x2+2px—(p2—-q)=0

(d) x2+2px+(p2—q)=0‘

gy x IR y T TR €
y=x+x%, @GR I & &A6d $ oRadd &
Ueel 91 & BFBd & g a4 @ ?

(a) 1+ 3x+ 2x2
() 1+ 2x + 3x2
() 1-2x+3x*2

(d)’ 1 - 2x — 3x2

| {Had px+2y+22-3=0 3R

2x—y+z+2=0 & WIDT-DU n/4 ¢ |

p & AE TR ?

" (a) 24
b 12
(¢) 6
(@ 3
%ﬁamunw@nwwﬁ¢t3%3=awm

grdiggd AR R g d fF Nt) = ce, e ¢

CEFRE, Mo T TS ?

(a) ¢
(b k
() c+k
(d c-k

13.

14,

15‘

(6 -A)

x2  y? . .
éﬁqa—+?=1 & eFl Al @ o

2
a
31 =g AR BF ga Wi T 2 | gu o1 e

amt!?_

{a) x2+y2=a\2+b2
(b) x2®+y%=a?-p?
(€) x%+y%=2(a%+b?)

(d) x2+y%=2(%-b?)

m3x+4y—i=owﬁg(1,2)aﬁrﬁwwé ?

(a) [_1,_§j
5' 5

(
b (I l]
8’ 2
[
(c) z, —l)
8’ 2
,
(@) _1,1)
5' 2

afe wHERT x? - Bx + k = 15 & W @

AGT -3, A kd A T @ ?

(a) 12
(b} 15
(¢c) 16
(d) 18

Frefofa st w frar e -
1. S WeF o o3 Qa8 |

2 e wem @ o B # |

TRffREs sl A A TR ad &E »
(a) &ada 1

(b) acr 2

() 1322t

() Ta1skad2




16.
proper subsets of A ?
(a) 16
(b) 15
(c) 14
(d) 12
17. What is the number of three-digit odd|
numbers formed by using the digits 1, 2, 3, 4,
5, 6 if repetttion of digits is allowed ?
(a) 60
(b) 108
(o) 120
(d) 216
5 6 1
18. Let A = . Let there ecxist a
2 -1 5
35 49
matrix B such that AB = |. What is
29 13
B equal to ?
(5 1 4)
{(a)
\2 6 3
(2 6 3
(b) :
5 1 4
5 2
(e) 1 6
4 3
(2 5)
dy |6 1
3 4
Q-OEBA-K-NBU

If A={a,b,c,dl, then what is the number of

19.

20,

21.

22,

(6 - A)

v

Consider the following statements :

1. The probability that there arc 53 Sundays
in a lcap year is twice the probability that
therc are 53 Sundays in a non-leap year.

2. The probabhility that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
month of April.

Which of the stalements given above is/are
correct ?

(a) 1 only

(b) 2 only

{¢) Both 1 and 2
{d) Neither 1 nor 2

Consider the following statements :

1-If A= A, then A is a sihgular matrix,
where A’ is the transpose of A.

2. If A is a square matrix such that A® = I,
then A is non-singular,

Which of the statements given above is/are
correct 7

(a) 1 only

(b) 2 only

{(c) Both1and?2
(d) Neither 1 nor 2

If ’p times the p** term of an AP is q times
the q"h term, thén what is the (p + q)lh

" term equal to ?

{a) p+q
(b) pq
(cy 1
d 0

A team of 8 players is to be chosen from a
group of 12 players. Qut of the ecight players
one is to be elected as captain and another as
vice-captain. In how many ways can this be
done ?

(a) 27720
(b) 13860
(e) 6930

(d) 495

e
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17.

18.
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afk A=la,b,c dl, o AP I 3Tl @)
titcain R
(a) 16

. (by 15

(cy 14

(d)y, 12

A FoT aenl e F=n el 1, 2, 3, 4, 5, 6 i |

I9ANT TR TS TS & | afe 3@ B gERd wipd
2, a 0 vt fea € 2

{a) 60
(b) 108
{e) 120

(d) 216

6
1}3#11%?&%1@
1 5

49
J @
13

mﬁﬁ‘m%A=[z
o 35
%uammgsﬂw%ﬁsm:[zg

B & & 7

3 4

19,

20'

21.

22,

{7 -A)

FrafafEs oo ) fear Hifse

1. f&d &g af ¥ 53 R M & wivsa fod
R-eliw & & 53 R M & wiisa H g
=4

- 2. A TER ¥ 5 WWaR W & wiiksdr i 5e

¥ 5 Wwar 8 & mfyea 2 fa @ )
Faitfefad § ¥ S5 TR o= 9 & ?
(a) .?h_dﬂl
(b) wad 2
(¢) 13k 22
(d Fd1kade

Frafafiea ool R faar Siftse

1. aft A= A @ A e srgesAia AR @,
e A’ & A @1 aRad |

2. dtATE iR wR E 5 A% =1,
ar A epavia @ |

JuffeRea 33 @ TR T w2 2

(a) ®ad 1

(by ad 2

(¢) 13k 23

(d =ar13kagz

g frdt wmrR Aol &1 pd U & p T IS qd
02 & q T8, @ (p + q)dl 0T fooewd awar @ 2
{a) p+q

(b) pg

(cy 1

(dy 0

- 12 faafi & et W @ 8 faodl & s

T T S # 1 $ 3ne Faaisdl 8@ o @
FaH AR g B I-FAF g S R |
f yvar & fbar o7 wEaT & ?

(a) 27720 '

(b) 13860

{¢) 6930

{(dy 495




23.

24,

26.

26.
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(¢)

In tossing three coins at a time, what is the
probability of getting at most one head ?

(a) %
(b % :
(c) %
@ 3

What is the sum of-the cocfficients of all the
terms in the expansion of (45x — 49)% ?

(a) -256
(b) -100
(c) 100
(d) 256

Two balls are selected from a box containing
2 blue and 7 red balls. What is the probability
that at least one ball is blue ?

2
(a) 5
7
(b) 3
5
12
70
(d) 1

If the equation x> - bx + 1 = 0 docs not
possess real roots, then which one of the
following is correct ? ;

(a) -3<b<3
(b) =2<b<2
() b>2

(d b<-2

27,

28.

29.

30.

(8- A)

_ (c)

-
The probability of guessing a correct answer"s .
%. If the probability of not guessi'ng the
e oy | ,
correcl answer is 3 then what is x equal to ?

(a)
(b)

Lo TR < S 7 N o)

(d)

If the syslem of equations 2x + 3y = 7 and
2ax + (@ + b)y = 28 has infinitely many

solutions, then which one of the following is

correct ?

(a) a=2b

(b) b=2a

(¢c) a=-2b

(d) b=-+2a

If p and g are the roots of the equation

X% - px + g = 0, then what aré the values
of p and q respectively ?

(a) 1,0
(by 0,1
(@ —-2,0

d) -2,1

Consider the following statements related to a
variable X having a binomial distribution

by(n, p) : :

1 . .

1. If p= 5 then the distribution is
symmetrica].

2. p remaining constant, P(X = r) increases
as n increases,

Which of the statements given above is/are

correct ?

(a) 1 only

(b) 2only °

(¢) Both 1 and 2
(d) Neither 1 nor 2
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24.

25.

26.
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_ (a)
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(b)

(c)

i o]~ o|=1 i

(d)
(45x — 49)* & R # T wd & Kl W
qMEA w1 8 ?

(a) —256

(b) —100

{¢) 100

(d) 256

vE Fgd A 2 Aent ok 7 W E e ¥ ar i
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{a)

(d)

e
E|_q Elm ©Wl~1 w|m

afe g x2 - bx + 1 = 0 a‘ifﬂ?ﬁﬁﬁﬁ‘iﬂ
7, 2 B 8 9 o o 2 0

{a) -3<b<3

(b} —2<b<?2
© b>2

(d b<-2

27,

28.

29,

30.

{9 -A)

Eaﬂé‘rmﬁiraqmaﬂﬁﬁmﬁm = &g

T IR TN A = B B W % & x @

A g ?

(a) 2
(b) 3 -
(e) 4
(d) 6

o iR Bea 2>;'+3;y=7 o

2ax+(a+b)y=28 % 3 B &, @
Fefffer d a s e 2 2

(a) a=2b

(b) b=2a

{(c) a=-2b

(d) b=-2a

afc TERe 2 - px+q=0 S paR q& A
paﬁxqaswmmm-ﬁ ?

(a) 1,0

b 0,1

(e) .—'2,0

@) -2,1

ffm & by, p) @ W X A wafmm
Frfofea aAl ) e Sifse

1., ﬁp:l,mmwﬁa%l

2. p?ﬁfﬁ'% FﬁP(X_raﬂﬁﬂ'émnHEfﬂﬂ
g1

ToRffRed ol ¥ R B WA T 2
(a) oadt 1

(b) o&aA 2

(e) 13K 22F

(@ Adr1akaH2
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31. What is the number of ways of arranging |35, The order of a set A is 3 and that of a set

the letters of the word 'BANANA' so that - B is 2. What is the number of relations
no two N’s appear together ? from A to B ?
(a) 40 : (a) 4
{by 60 (by 6
{c) 80 : - {c) 32
(d 100 | (d) 64
. a
32. Consider the equation (x — p) (x = 6) + 1 = 0 [36.  What is the value of Tog — () ?

having integral coefficients. If the equation Yapy _
has integral roots, then what values can’p (a) IOgaB {at)
have ? ' - '

, (b)  log,g, (o)
(a) 4dor8

{c) logun (afdy)
(b} 5orl0
. ©o(dy log,,.
(¢) 6or 12 ( B ()
(d) 3oré ' 87. The 59™ term of an AP is 449 and the
. 449" term is 59. Which lerm is equal to
2 .
33. What is the equivalent binary number of 0 (zero)

the decimal number 13625 ? } (a) 5015 term
(a) 1101111 (by 502" term
(b) 1111-101 () 508" term
(c) .1101-101 o (d)  509'" term

(d) 1111111 - . :
38. Foraset A, consider the following statements :

1. AU P(A) = P(A)
2. 1Al N PA) = A

F+ﬁ2w -3\ 3. P(A) - {A} = P(A)
——————] + { J r 17 |

34. What is the value of

—i+A3 i+ V3 where I denotes power set.
Which of the statements given above is/are

(a) -t correct ?
() 0 : ' | {a) 1 only
. (b} 2 only
() 1 | © Bonly
(d) 2 . ' (dy 1,2 and 3.
Q-OEBA-K-NBU - | (10 - A )




31.

32.

33.

34,
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o@ BANANA' & 3Rkl & 39 WaR Gaifsg &

%, AL A Ned a7 A, e S € P

(a) 40

b) 60

(c} 80

{d). 100

gm?agvnaﬂamﬂﬁaﬂm (x—p)(w—6)+1—

mﬁmmﬁnluﬁméwwﬁm% ap
@1 W T S Hpal 2 ?

(a) 4 377 8
(b) 5 3rm@l 10
() 6 Jgar 12

(d) 33RAe6

e A 13625 H wiged famar wwen

e ?

(a) 1101-111
(b) 1111-101
(¢) 1101:101
(d) - 1111:111

3 200 Y
.(—14-\/—] + (Hﬁ) ol

ogRC i) -

(a) -1
(b} 0O
(c; 1 .

(dy 2

35.

36.

37.

38.

(11 - A}

[T A® TOHE-FH 38 3R uE wead B @

S 281 AQ BT Wl A dem s g v

(a) 4
(b) 6
(c) 32
(d) 64

loan_B.(H)

1 S & A TR P
% gy ¢

(a) IOgch (o)

(b) hgﬂﬁv (aP)
{c) ]ogﬂ;ﬁ (afy)
(d) logaB (B)

ﬁﬁﬁwﬁcﬁa59awa449%‘3ﬂzq49mqa
59%13%:111%0(5@)%?

(a) - 501df 98
(b) 50247 ug
(¢) 5084l Ug
(d) 509df 9&

e wea A ¥ fe, Greafifed ool w Rer

1. AU PQA) = PA)
2. JAINPA)=A
3. P(A) - {A] = P(A)
SEl P a1 3-8 Wi e |
oRRRE R F B R w4 o
 (a) @ad 1l _
(b) e 2 )
(¢c) ®ad 3
(@ 1,23R3




-39.  If the AM and HM of two numbers are 27 and {48. What is the maximum point on the curve
12 respectively, then what is their GM equal x = e&y ?
to ? . :
()" 12 - ' (@) (L, e)
(b) 18 (b (1, eh)
() 24 : © (e, 1)
. ) Fd
-dy 27
! @ (1
: 1 1 .
40. If tan A= = and tan B = =, then what is
2 3 ‘ 44. The function f{x) =¢*, x e R is
the value of (A + B) ? _ .
(a) 0 . ‘ (a} Onto bul not one-one
m
(b) 4 (b) One-one onto
. m . .
(c) 2 () Onc-one but not onto
) = {(d) Necither one-one nor onto
41. If (4, 0) and (-4, 0) are the foci of an ellipse .
and the semi-minor axis is 3, then the ellipse PCRES | . LI dy
passes through which one of the following 45. 1y =sin (1+4:~:2]’ then what is dx squal
points ? to ? : )
(a) (2,0)
b) (0, 5) (a) —o
©, ' 1+4x?
{c) (0,0
(d) (5,0 1.
{(b) - PE—
. 1+4x
42. Under what condition do the planes
bx ~ay =n, ¢y —-bz=1I az—-e¢cx =m
intersect in a line ? _ 4
(c) —=
{a) a+b+e=0 ' 1+4%2
(b) a=b-=c¢
{¢) al+bm+cn=0 @ '4x2
1+4x
(d) I+ m+n=20

Q-OEBA-K-NBU (12 - A}
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40.

4.1l

42.
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u%aﬁ‘dmmﬁésmmwaﬁ?mmw

gaer: 27 3R 12 &, @ 3@ OIRR Area wo R 2
(a) 12 |

(b) 18

() 24

(d) 27

UﬁtanA:% AR tanB=—, A (A+DB)

W=

HOH A ?

o

(a)

=
S
Ny

o
S
2 opola

afz fodt andgm & ARt (4, 0) @ (~4, 0) &
IR anfey are 3 2, o1 Foafefaa el d @
freRt dnfaer o & 2

@ (2,0
() (0, 5)
@ (0
(@ (5, 0)

%ﬁuﬁmﬁi:ﬁtﬁﬂﬂﬁbx—a}mn, cy—bz.=£,
az—cx=m U @ | free € 2 '

(a) é+b+c=0
® a=b=c
{c) al+bm+en=20

d !+m+n=20

43.

44,

45.

(13 - A)

(a)

{(b)

{c)

x = ey & IS g TR 2
(1, e

(1, el
(e, 1)

(e, 1)

Bad fixy=e*, xe R

(a)

(b)

(c)

(d)

3MBED & R vhd e
ThD IS 2
v ¢ fog s @

T o vhay & 3R 9 & IwEEs

Uﬁ"y=sin"l[ 4x ] @Y Fmommd o

(a)

(b)

(c).

-~ {d)

1+4x° dx

1
1+4x?

1
1+4rx2

1+4x2

1+4x?



- 46.

47,

48,

49.

Q-0OEBA-K-NBU

What is the value of A for which the vectors |50.
A -'\ A A A A AL A A
1 -]+ k, 2i+] -k, Ai -] +Ak
are coplanar ?
{a) 1
(b) 2
(e} 3
{d} 4
What is the equation of the plane through
z-axis and parallel to the line
x-1 y+2 z-3 o ol.
cos@®  sin® 0
fa) xcotO0+y=0
(b) xtanB-y=0
() x+ycot0=0
‘{d) x-ytan0=0
If the lines 3y + 4x = 1, vy = x4+ 5 and
Sy + bx = 3 are concurrent, then what is
the value of b ? ' 52,
(a) 1
(b} 3
(¢} 6
(dy 0
" What is the least value of
flx) = 2x3 ~ 3x% ~ 12x + 1 on [-2, 2:5] ?
(a} -3
(by 8
) (c) -19
{d} -165
{14 - A)

What is the derivative of”

. 1%
xyaZ —x2 +a?sin 1[—) ?

a
(a} a? - x?
(B 2ya2-x?
(c) X2 _ a2 '

(d) 2yx2-a?

If (-5, 4) divides the line segment between
the coordinate axes in the ratio 1 : 2, then
what is its equation ?

"{(a) Bx+5y+20=0

(b) 5X+8y—7:0
() Bx—-5Hy+60=0

(d}) 5x -8y +57=0

What is the value of

cos15°  sin 15° cos45° cos15°|
. x ?
cos 45°  sin 45° sin45° sin15°
1
a —
(a) 1
J§ :
p X2
(b) 2
I ‘
C _— —
{c) 2
3
A - =
{(d) 7




46.

47!

48,

49,
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A

\ @1 Fa & s R wRw i - + k,
ot +§ %, 21— +nk wwada g2
() 1 '

(b) 2

(c) 3

(dy 4

y+2 z-3

x-1 _y+2 ¥ "R ik
cos O sin © 0

z-ﬂﬂﬁ@ﬁﬁﬁmﬁﬂﬁ?ﬂmw??

&

(a) xcotB+y=

(b) xtan0-y=0
(c) xX+ycotB=0
(d}. x—-ytén@:O

qEIE@® 3y +4x=1, y=x+5 3R
fy+bx=3WmRE A b AA MR ? -

(ay 1
by 3
(¢) 6

(d) 0

-2, 25] W fix) = 2x® - 3x% — 12x + 1 @
AT A & P

(a) -3
(b) 8
(e} -19

(d) -165

50.

al.

S52.

(_15—A)

a

xya? —x? +a? sin™! [i) CARCECTL R

(&) a? — x?
(b) 2Ja2 —x2
() x2 — a2

@) 24x2-a’

aﬁﬁé&n&ﬁé&é\ammaﬂ(—s,ﬂ.eﬂﬁm
1:2 ¥ fowfad axar &, d sar wAYEGIOT &N
22

fa) Bx+5y+20=0
(b) Bx+8y-7=0
(¢) B8x-by+60=0

(d) 5x -8y +57=0

cos 15°  sin 15° cos 45°  cos 15°

X

| cos 45°  sin 45° sin 45° sin 15°

oT & g ?



93.

Out of 32 pérsons, 30 invest in National |57,
Savings Certificates and 17 invest in shares.
What is the number of persons who invest in
both ?
(a) 13
(b)y 15
{cy 17
(d) 19
54. What are the equations of the directrices of
the ellipse 25x%% + 16y% = 400 ?
(a) 3x+t25=0
(b) 3y+25=0
{¢) xx156=0
: 58.
(d) y+25=0
55. Let A be an n X n matrix. If
det (AA) = A% det (A), what is the value of
s ? '
(a) O
(by 1
() -1 59.
d) n
x2 y2
56. Let E be.the ellipse Y + il 1 and C be
the circle x®+y=9. Let P=(1,2) and
Q = (2, 1), Which one of the following is.
correct ? . 60.
(a) Q lies inside C but outside E
{b} @ lies outside.both C and E
(¢c) P lies inside both C and E-
(d) P lies inside C but outside E
{ 16 - A}

Q-OEBA-K-NBU

What is the geometric interpretation of : the
- - - = -

identity (3 ~ b)x(a + b)=2(3 x b)?

1. If the diagonals of a given parallelogram

are used as sides of a° second

parallelogram, then the area of the

second parallelogram is twice that of the
given parallelogram,

2. If the semi-diagonals of a given
parallelogram are used as sides of a
second parallelogram, then the area of
the second parallelogram is half that of
the given parallelogram.

Select the correct, answer using the code given
below : -

(a) 1only
(b} 2 only
(¢) Both 1 and 2

{d) Neither 1 nor 2

/2 .3

What is I 3sm X 5— dx ?,
sin” x + cos” x

0
(a}
b =
(b} P

7
c)  —
('. 4
(d o
The function fix)= —2—‘{—— from Rto Ris
x“+1

One-one as well as onto

(a)

(b} Onto but not one-one
{c} Neither one-one nor onto
(d) One-one but not onto’ '

If A be'a real skew-symmetric matrix of order
n such that A2 + I.= 0, I being ‘the identity
matrix of the same order as that of A, then
what is the order of A ? '

(a) 3
{by 0Odd
.(c) Prime number

(d)

Even
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32 wiftedl ¥ 4 30 W & S U quw FELCE

O m weh £ e 17 b0 & o G 8 1 4
et B e @ & S A A Priw 5 #
(a) 13 '

(b)y 15
(¢) 17
@ 19

54. <dgd 25x% + 16y2 = 400 1 FrganEi &
FAERe 71 & P
{a) 3x+t25=0
(b 3y +25=0
() x+156=0
(d y+25=0

66. TH AW, ABE nxn IGE 2 | Ak
det (AA) = A® det (A), @ 5 @ WIF & & ?

(a) 0
(b) 1
fc) -1
NGV

56. mﬁrﬁuE%ﬁd@a%+%=1aﬂicé
T0 x2+y2=9 mWAEHE P=(1,2 3R
Q=21 freftfea ¥ I o= oo & ?
(a) QR C® W fisg B & T
(b) Q2 C3RE I awx
(c) P%caﬂvﬁaﬁ‘r%aﬁa\r
(d) P2 C % MR firg E & aR

{17 - A}

57.

58.

59.

60.

TR (3 - b) x (3 + b)=2(a x b)
& A aed §ar & ?
1. afe fes e e 'R aqs © fasot @ ve

@imﬁﬂ@jﬁﬁ@hﬁimﬁmﬁt
febar e, @ TR TR T @1 eEwa
e WAR gt & B &I GIFT 8 |

el B ool 3 ¥ g
forn e, A R TR TP @1 & fie
e AR A & SABE BT 3AET 8 |

1 far e e o v o W I g -
(a) &ad 1
(b) EHad 2

-~ (¢) 13 22

(dy Far13RTI&2

/2

.0
’[I.ssmxS dx FTR 2
sin” x + cos® x
]
{(a) =
B X
(b) 5
T
(C) I
(d) 0
R R 6 BeM fix) = zx
x4 +1

(a) UHd! T DR &

(by 3TeEES @ R ohd! 8

(¢) = < udhdl & 3R 7 & roes
(d) vdd! g o moRs T&

afz A B¢ Dft n o olis fom-wntia sregg
WMWER & 6 A2 + 1 =0, 5T I 0 B &1
mm@g%ﬁwaﬁ%aﬁma‘maﬁﬁ%w
22

fa) 3

(by foam

{(¢) AUy "=

(d) W




Directions

: For the next 3 (three) questions to
Jollow : e

The table below gives an incomplete frequency
distributioq with two missing [requencies f]

~and f,.
Value of X Frequency
o f,
-1 ‘ fy
2 4
3 4
4 -3

. The total frequency is 18 and the arithmetic
mean of X is 2,

61. "What is the value of , ?
(a) 4 '
b). 3 -
“fe) 2
(dy 1
- 62. What is the standard_deviation ? |
J5
(E!_) . ?
J5
by X2
( _) 3.
. 4
(c) 3 '
: 16 '
4 =2
() 3
63.  What is the coefficient of variance ?
200
(a) '—3
50v/5
Ly 22
(b) 5
600
(c) —
- J5
(dy 150

Q-0EBA-K-NBU

64,

65.

66.

167,

118 - A |

What is the sum of all natural numbers
between 200 and 400 which are divisible by
77

(a) 6728
(o) 8T12
(c) 8729 -
(d) 9276
‘The mean and variance of a binomial

distribution are 8 and 4 respectively. What is

P(X = 1) equal to ?

(a) 5%5--
(b) 2%
(e) gg-

What is j e *sin x dx  equal to ?

(a) e/ *(sinx - cos ) +'¢
(b) (sinx-x (;os X)+cC
(¢) (xsinx+cosx)+c .
(dj (sin x + X cos X) + C

where ¢ is a constant of integration.

An’bbservgd event B can occur after one of
the three events A, A, A Ir o
P(A]) = P(Ay = 04, P(Ay = 02 -and
P(B|A) =025, P(B|A,) = 04,

P(B|Ay = 0-125, what is the probability of
A1 after observing B ?

(a) 1/3 o

(by 6/19

(¢) 20/57

(d) 2/5




®
Ao - o 3 () e > o -

61.

62.

63.

Q-OEBA-K-NBU

T i AR ¥ v gl ararar de far @ Rt

a1 aRERAN f, 3K f, srgufeed # |
X &1 AF ARERAT

0 f,

1 f

2 4

3 4

4 3

$1 aRGRA 18 8 3R X & iR med 28 |

f,, &1 A a1 ¢ ?

(a) 4
(by 3
{e) 2
(dy 1
e foem w2 ?
J5
(a) T
‘ J5
(b) _é_
4
{c) 3
16
(d) 5
SERYT Ol a1 R 2
200
(El) T
505
(b) 5
600
0 =
J5
(d) 150

64.

635.

66.

67,

(19 - A}

200 3 400 % & H 7 A R W Yol
(ATpTere) Tl &1 dree gt @ ?

{a) 6729
(by . 8712
(c) 8729
(d)- 9276

fooxY fgue de & wrem iR weRor maeE g afiw 4 & |
PX=1)FH o a g ?

1

(a) ZT

1

(b) 3

1

(c) 2—6

(d) ey

je{’”‘sinxdx S AF R P
(a) e"*(sinx—cosx)+¢
(b) (sinx-xcosx)+c¢
() (xsinx +cosx)+¢
(dY (sinx+ xcosx)+¢

FEl ¢ Uh FUHAT-IER 2 |

dF weasi AL A, Ay & O v Y
U B W WHAl € | gl P(A)) = P(Ay) = 04,
P(A)) = 0-2 @1 P(B{A,) = 0-25,

P(B[Ay) =04, P(B|Ay = 0125, 3 B & femr
& T A, B WiyHar T @ 2

(a) i/3 ' ¢

(b) 6/19

(c) 20/57

(D 2/5




4

68. Whatis J'.x2 1 dx equal to?
x“+1
3
(a) %— —x+4tanTx +¢c
X.s- ' 1
(b) 3 +x+4dtan x +¢
x3
(c) 3 —x+2tan"lx + ¢
Xa : 1
(d) 3 —x—-4dtan” x + ¢
where ¢ is a constant of integration,
’ < +6 x+4
69. What is the value of lim ( ) ?
. x—em {X+1 ) :
(a) e .
(b) &?
() et
(CIRS
70. What is the area of the triangle with vertices
(0,2, 2), (2,0,-1) and (3,4, 07
(a) 15/2 square units
(b) 15 square units
(¢) 7/2 square units
{d) 7 square units
71 If 1 is one of the roots of
) 2- /-2 :
ax? + bx + ¢ = 0 where a, b, ¢ are real, then
what are the values of a, b, ¢ respectively ?
(a® 6, —4, 1.
by 4,.6, -1
(& 3, -2, 1
{(d) 6 4, 1
Q-OEBA-K-NBU

72,

73.

74.

75,

If » isa complex cube toot of unity @nd’ .
X = w? — o — 2, then what is the value of

2 4+ 4x + 77

(a) -2
(b)y -1
(¢} O
dy 1
If cos x # -1, then what is _Smnx
) 1+cosx
equal to ?
=
) —col —
(a 0 5
X
b ol —
(b) ¢ 2
X
) tan —
(c fn_ 2
(@ - tan.~

2

The angle of elevation of the tip of a flag post
from a point 5 m away from its base is 75°
What is the approximate height of the.flag

post ? o
(a) 15m

(b) 17 m

(@ 19m

(d) 21m

If A = P(1, 2)) where P denotes the

. power set, then which one of the following

{20 - A)

is correct 7

(a) {1,201 CA
(b) leA
(c) :p g A
(d} {1,2 e A




B A &R ?

L oaa
68. - J-x2+1 dx

x“+1

X3 -1

(a) —3——x+4tan X+c
3
X -1

(_b) ?+x+dtan X+cC
3

(c) l;——:a1+2tan'_111c+c
3

(d) %-——x—dta‘n_lx+c

Sl ¢ U TArSEH-3R ¥ |

- 69, lim

X = oo

) +6x+4
[" ] T A TR 2
x+1

(a) e
(by e?
(c) et
@ e°
70, 9t (0,2,2), (2,0, -1 3R (3, 4, 0) ¥ By

o BB FaT ¥ ?

(@) 1572 o gor

(b) 15 ot 5o
(¢ 7/2af s
(dy 7 gars

71. aRR

: .
2-\/3%
Sl a, b, c adfa® ®, @, a, b, ¢ & A HHIE

T g ?

ax? + bx + ¢ =0 & T

(a) .6,
by 4,
(cy 3,
(d). 6, 4, 1

0-OEBA-K-NBU

72.

73.

74,

75.

{2 - A}

afe 5 & vH dEy T o & R
x=w2-—0-2 ¢ @ x2+4x+ 7 @ A T
g7 .
{a) |

sin X

I cosx » -1, @ @ HHE T ?

- 1l+4+cosx -

COX
—cot —

(a) 7

X
{ =
(b} cot.>

%ﬁm-m%@?amaﬂm.mhwﬁ

5mgd W 0P fag ¥ 75° ¢ 1 43708 Db
o Sarg wan ¢ ? -

(@ 15m

(b)) 17 m

{c) 19m

(d) 21m

afd A = P((1, 2}) & P ue Wwma & D
g, A feaffaa i a sl wad &

(a) 11,21 CA
by 1eA
) oA
(d) 1,2 eA




76.

71.

- 78.

79,

Q-OEBA-K-NBU

The geometric mean of three numbers was
computed as B8, It was subsequently found
that, in this computation, a number 8 was
wrongly read- as 12. Whal is the correct
geomelric mean ?

(a) 4.

(b) ':1[5‘

() 9318

(d) None of the ab;}ve

1 2 . : :
Let A= [ } = [a;], wherei, j =1, 2. If
3 4 i .

its inverse matrix is [bij]; what is by, ?

(a) -2
(b) 1
3

(c) E

I

(d) _—E

The angle A lies in the third quadrant and it
satisfies the equation 4 (sin? x + cos x) = 1.
What is the measure of the angle A.?

(
(a) 225°
(b)) 240°
© 210°

(d) None of the above
Whﬁt 1s the area enclosed between _the curves
y2 = 12x and the lines x=0 and y =67

(a)

L4

2 square units
(b) 4 square units
{c) 6‘_squar(.3 units

(d) 8 square units

80.

82,

183.

{ 22 - A )

In a triangle ABC, BC = /39, AC = 5 and
AB

= 7. What is the measure of the angle

A7
(a) %
b = '
(c) g—
@ Z
| What is the modulu.s of ; :_l(: _Ljii)2 ?
(a) 1 '
® - 5
) J3
(d) 5

4

If the line through the points A (k, 1, —1) and
B (2k, 0, 2) is perpendicular to the line

through the ‘points B3 and C (2 + 2k, k, 1), then-

what i3 the value of k ?

{a} -1

by 1

(¢ =3

(d 3

What 15 J dx equal to?
14e*

(a)

x—Inx+ec
(b) x-In(tan x) + ¢
) x-In{l+e“+c

In(1l+e®4+c

(d)

where ¢ is a constant of integration.




76.

T,

78.

79.

_ Q-OEBA-K-NBU

' ﬁhmagvﬁ-ﬂmwsmﬁmm1mﬁw

{¢)

o 5 39 v ¥ o Gl 8 B Nl A 12 0%
foran @ a1 | W TUIRR wrem w1 @ P

(a) 4
b Y5
(¢) 92318
(d) IuRkfeRRaa § ¥ o1 72
1 2 .
HﬁEﬁ‘lﬁﬂEA:[ J:[ai-J,TﬂETi,j=1,2
3 4 }

g | dfe guar gapd Qg [byl @, ® by, w@
¢
(a) -2
(). 1
3
2

() -

=Rl

B A ARR w4 2 sk ar e

4 (sin? x+cosx)—la§t\q§€m§|aﬁm,

AW HT FG g ?

(a)
(b)
(c)
{d)

995°
240°
210°
iR ¥ ¥ P

ap y2=12x AR T x=0 q y=6 %
st B NHGA T § P

2 a1 go1d
4 91 3T
6 i 3P
8 @il 3B

(a)
(b)
(e)
(d)

( 23 -

80.

81.

82.

83.

A

feh Bam ABC ¥, BC = V39,
AB=T% | ST AT U &1 & ?

AC =5 3R

(a) -

NEEFSER

(C)'

DA oA

afg fagalt A (k, 1, -1) 3R B(2k, 0,'2) ¥ TR

@ fagall Baar € (2 + 2k, k, 1) & d@ @l

RAEe M kH U & ?
(a)
(b) 1
(¢)
(d) 3

1
J 1+e*
{a)
(b)
(c)
(d)
gl ¢ U GHIHEH-3TR 8 |

dx ®HE TR ?

x=-Inx+c
Xx—In{tan x) + ¢
x—-In(l+e¥+c

In(1l+e&%+ec




84.

85.

86. A veclor g is collinear with the veclor
2 = (2, 1, -1) and satisfies the condition |
—5 —> —3 .
a - b =3 Whatis b equal to ?
(a) (1, 1/2, -1/2)
(bY (2/3, 1/3, ~1/3)
(c) (1/2,1/4, -1/4)
(d) (1,1, 0)
87. What is the least positive integer n for which
N
1+1 _19
1-i
C(a) 16
(by 12 ‘
(c) 8
(d)
Q-OEBA-K-NBU

The function f{x) = x cosec x 1s
{a)
(b)

(¢) continuous for all x except at x =
where n is an integer

continuous for all values of x
discontinuous everywherg

nn,

(d) .

continuous for all x except at x = nxn/2,
where n is an integer

What is the solution of the differential

. dy dy
t —— + 2y | = xy—=?
equation a[xdx + y] Xy
¥
(a) x°= kye®

y
by  yx% = kye®

y2

{c) yzxz = kyeT

(d) None of the above

" where k is a constant.

88.

89.

90,

{24 - A)

A ) A —>

. A S
The vectors a = xi +vyj +zk, b =k,

T are such that they form a right-handed

. system. What is ¢ equal to ?

(a) ]
by yj —xk
A A
(& yi - xj
("\ A
(d) xi - yj
2y
If x=t2 y=t3 then whatis — equal
to ? ' dx
(a) 1
3
b =
(b) 2t
3
{c) m
3
O 2
(d) 2
n
T
What is J. tan® x dx equal to ?
:E
4
(@) 3
1
b =~
(b) 3
1
{c) E
(dy 0



84.

85.

86.

87.

Q-OEBA-K-NBU

" A {[x) = x vosec x

(@ x% @0 7E B P G 2

(b) wdF A #

(c) x%ﬁ‘ﬁﬂﬂﬁ%%ﬂﬁﬁﬁ?%x:nn’&i
%‘Eﬂ%ﬁ?}’lﬁhl’!ﬂi‘{?ﬁa’?%

(@ x& W AA & foe dad ? &g x = nn/2
E%Eqﬁ.aﬁﬁnﬁiﬂﬁﬁg

AT FHIDHT a(x%}i+2y]=xy% 3 &
X

Far g ?

¥
(a) x*= kye®

Yy

(b) yx2 = kyo::5 )

y2

(e y*x2= kyeT
(d) JuRfaRed ¥/ 15 A
e k B 3R @ |

»¢ Ry b ol i @ = (2, 1, -1 @ W@
gaRvfEw 3 - b 3D AT ARME N b
B AH a2

(a) (11 1/2; _1/2)

(b) (2/3, 1/3, -1/3)

(© (1/2,1/4, -1/4)

(dy (1,1, 0)

(i*’:)“ =1 % e e oens Qs noaa

-1
27
(a) 16

- (b) 12

(c) 8
(d) 4

88.

89.

4]

2 2}
ﬂﬁﬂz=xi+yj+z‘ic,—l;=k,?
oS em e E ) ¢ mAm e g ?

(a)

(b)

(c)

(d)

“I.‘L‘—_'-D-Iﬂ

{(a)

(b)

{c)

(d)

{25 - A) .

"

J

N M
y] -xk
" a
yi —xJ
N fa)
Xi — yj

9l

e

n | co

tan® x dx o AF 4T & ?

Q[ et

B |

A T P

U®



o1.

92.

93.

a4,

Q-OEBA-K-NBU

(d)

Let 0O(0, 0, 0), P(3, 4, 5, Q(m, n, 1
and R(1, 1, 1) " be the vertices of a
parallelogram taken in order. What is the
value of m+n +r ? .

(a) 6
(b) 12
{(c) 15

More than 15

What is the so!utio_n of the differential
equation 3 e* tan y dx + (1 + ) sec? ydy=07?

(a) Q1 +elany=c

b) 1+e®¥tany=c
(€) (1+e)tany =¢
(d) (1+eMse?y=c

where ¢ is a constant of integration,

What is the locus of prints, the difference of

whose distances from Lwo points being
constant ?

(a) Pair of straight lines

(b) An ellipse

{¢) A hyperbola

(d) A parabola

Whalt is the differential equation for
y2=da{x —a)?

(a) yy' -2xyy +y2=0

(b yy (yy +2x) +y2=0
© yy oy -2x)+y%=0
(d yy -2xyy’' +y=0

95.

96.

97.

{26 - A)

"If the angle between the vectors 2 and I;

is %, what is the aﬁgle between —5a and

—
6b ?
(a) z
6
by 2
3
{c 2n
5
@ 2t
7 [

What is the degrec of the differenlial equation

2 3

d_y_ —_ 1 + [gll) = 0 9

dxz dx

{(a) 1

(by 2

(¢) 3

(d) 6
3 3

If szlnxdx=§-—£nx+x—7+c, then
m S

what are the values of m and n respectively ?

(a) 1/3, -1/9
(b) 3, -9
() 3, 9

(Id) 3, 3

where ¢ is a constant of integration.



91, T @ 5 0(0,0,0), P (3, 4,5), Q(m, n, |85, ax &Rl 3 3R b dae @ 8,

U R(L 1, 1) N weR Oagds & @ R .
THEl men+rHAF TR ? -5a 3R6b TATUDT DU FRTE ?

{a) 6
. (a) n
b 12 6
(e} 15 (b) 2n
3
(d) 159 it
| (©) 35’5
92.  3dhel TGO _
3e*tanydx+(1+e%sectydy=0 37
FEATE ? (d) -

(a) (l+eMtany=c

(b) (1+e")3tany=c _ - |96, IEHE  EHER &_ 1+[d_y)3=0 )
(0 (1+ed%tany=c

" o ®T @ ?
(d (L+e¥)sety=c
Sl ¢ U5 WIS -3 @ | . (a) 1
. . - by 2 f
93. 2 fagall A Al 4 W a=R g faged @
frgaawn e ? () 3
(a) WA @G | (d) 6
(b) Srfga I 3 3 :
97. df szlnxdx=—x—lnx+x—+c, al
(¢) fmRaeg m n
m3R n & IF A &N E P
(d) warg , .
_ (a) 1/3, -1/9
94. y%=da(x-a) % U Jded TR FAT R ? » ‘
{ 3, -9
(@ yy —2xyy +y2=0 .
(b) vy (yy"l‘+ 2x) + y2 =0 {c) 3, 9
© vy ly-20+y2=0 = o 3,3

(d) yy —2xyy +y=0 .
. TET ¢ U THIGA-3TR & |

Q-OEBA-K-NBU ' { 27 - A}



1+ tan 15°

98. What is the principal value of cosec™! (= v2) ? [102. What is the value of 1 tan 15 ?
. - tan 15°
(a) g (@ 1
1
b)
® = Y%
2
. (c) L.
(& -= a
( 1 :
(d 3
(d 0 '

- 103. If fix) = kx3 — 9x% + 9x + 3 is monotonically
99. If f:R>R g:R—R and g =x+ 3 incréasing in every interval, then which one -

and (fog)(x) = (x + 3)2, then. what is the value of th_e following is correct ?

-7
of {-3) * (a) k<3
@ -9 b k<3
(b) © , '
) c) k>3
{c) 9 .
@ 3 (d) k=3
' (x - 1) 104. If sin™? g + sin~} 12 =% , then what is the.
100, What is the value of lim ——a’r 7 X
' ' x-1 |x—~1} value of x ?
(a) © _ (a) 1
A o ~ b 7
-1 : :
(c) © 13

(d) The limit does not exist
(d) 17

101. A balloon is pumped at the rate of 4 em? per
; second. What is the rate at which its surface
area increases when its radius is 4 cm ?

105. If «, $§# are the roots of the quadratic
équation :-_c2 - x + 1 =0, then which one
of the following is correct ?

(a) 1 cm%fsec '

. (a) (o' - phis real

{b) 2cm2/sec ' - ‘

() 2(®+p% = (apP

. 9,
(¢) 3 cm“/sec (© (@f-p8=0

(d) 4 em?/sec - () (o8 +pY) = (o )8

Q-OEBA-K-NBU . {28 - A




98. Icosec'l (- J2) ﬁg@ﬂﬂﬂ? ?

r
4

ﬁ

o

e
I

99, T f:R-> R, g:RoR 3R px)=x+3
aar  (fog)x) = (x + 3)%, @ f-3) AR T

g
{a) -9
{(b) 0
(c) 9
{(d) 3

100. Ilim

@ I F Hida I8 2

101, o6 T&RT 4 cm?® ¥ 9598 & X F Perrdl ST
& | 3@ 39 591 4 em @ A s gba Aawd

oA Tgme?

(@) 1 cm?/sec
(b) 2 cm¥/sec
(¢) 3 cm%/sec

(d) 4 cm?/sec

Q-OEBA-K-NBU

102,

(29 - A}

103.

104.

105.

1+tan15°

—_— Wqﬂﬂ??
1-tan15° _
{a) 1
1
h el
(h) 7
1
() —
c J§
d 3

afe fix) = kx® — 9x% + 9x + 3 U IAA o
thiee avuE 2, o F=fiRed ¥ ¥ o o o w9

g7

(a) k<3
(b) k=3
(c) K>3

(d) k=23

. o112
gfig  sin '1E+sm'—

g7

{ay 1
{(by 7
¢y 13

(d) 17

afg o e x2 —x+1=0 90 a, B &,
a Preffma d A s wes @@ @ 2

(@) (o - pt) ardfas &
(b) 2(c® + B3 = (o B)°
© ©f-pH=0

(d) (o8 + BB = (o p)®



1{.}60

107.

Q-OEBA-K-NBU -

What is the value of +3 cosec 20° — sec 20° 7
(a) 1/4
(by 4
(c) 2
(d 1
The probability diétribution of random
variable X with two missing probabllmes P,
and p, is given below :
X P(X}
1 k
2 Py
3 4k
4 Py
5 2k
" It is further given that P(X < 2) 025 and

P(X > 4) = 0:35.
Consider the foilowing statements :

Lo pp=py
2. pp+py=PX=3)

Which of the statements given above is/are

correct 7

(ay 1 oi?]y

(b} 2 only

(q) Both 1 and 2
(d) Neither 1 nor 2

108.

109.

{ 30 - A)

If angles A, B, C are in AP, then wl'lat i5
sin A + 2 sin B + sin C equal to ?

(a) 4 sin B cos® (A_;_Q)

(b) 4 sin B cos® (AT_C)

(¢} 4 sin (2B) cos (ﬁZ—C)

(d) 4 sin (2B) cos? (i;_cj

StatementI: If -1<x<0, then

1% = - J1-x2,

If -1<x<0, then

-1 \}1—:{2.

cos (sin~

Statement IT:

sin {cos™ x} =

Which one of the following is correct in respect
of the above statements 7

Both statements 1 and II are
independently correct and statement II
is the correct  explanation  of
statement I

(a)

Both statements 1 and II are
independently correct but statement II

(b)

is not the correct explanation of
statement | -

{c) Statement I is correct but statement II
1s false

{d) Statement I is false but statement II is
correct



106.
(a) 1/4
(b) 4
() 2
(dy 1
107. &H aghos W X o wRew @eq, Gl 3
& migsa p, 3R p, URRE €, Y o mn
-3
X P(X)
1 k
g N
5 Ak 109.
4 Py
5 . 2k
s dfkRw ar M ko g & f5 P(X <2) = 0-25
an P(X > 4) = 0-35.
frafafea s w iR #ifswe -
L p=p,
2. p +py=PX=9
FRfaRaa woEt § J B wyd wd &E ?
“(a) ®ad 1
(b) Haa 2
(¢} 13k 23M
(d) ad13dRaIdD2
Q-OEBA-K-N8U {31 - A)

*J3 cosec 20° ~ sec 20° B HH TN E ? )

&

108. Tt @ A, B, C gA=K A H &, &

SinA+2sinB+sinC ®TAA®TE ?

(a) 4 sin B cos? (A_;C.]

(b} 4 sin B cos® (A—;—C]

(¢} 4 sin (2B) cos® (-é—-;-'—c-]

(d) 4 sin (2B) cos? [#)

FFl: 4t —1<x<0, @

cos (sin~! x} = - \/1—x2 -
gl alk -1<x<0, @

sin (cos™! x) = -./1— .

Prafafeg & @ o8 @ ve, JoRfRad oot &
frgd w12 ?

A w1 ORI < W@ ok
&F 11, o2 [ & a8 o @

fa)

by, S 1 3R 11 wdaw v # feeg

o 11, Bud 1 8 w8 = 8 @
(¢) & 1398 ¢ fsg o0 1 3R @

(d) PRI BgHR T &




110,

111.

Q-OEBA-K-NBU

Statement I: y = — tan™! (x1H +1 isan

increasing function of x.

Statement I :

dx is positive for all values of x.

Which one of the following is correct in
respect of the above statements 7 -

Both and 1I°
independently correct and statement II
is the of
statement I

(a) statements 1 are

correct explanation

Both statements 1 and II are
independently correct but statement 11
is not the correct explanation of
statement I

(b}

{e)

is false

(d) Statement I is false but statement II is
- correct

Consider the following statements in
respect of circles X2 + y2 — 2% — 2y = 0
and x? + y* = 1 :

1.  The radius of the first circle is twice that
of the secend circle.

2. Both the circles pass through the origin.

Which of the statements gwen above is/are
correct ?

fa) 1only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

Statement I is correct but statement II|

112,

113.

114.

132 -A)

LetubcbemAP !

Cons:der the following statemean :

1. —1~, i, 1 are in AP.
ab ca be

1 1

2. , 1 are in AP,

e’ Jeuda Jaiib

Which of the statements given above is/are
correct 7

{a) 1 only

{b) 2 only

(c) Both 1 and 2

(d) | Neither 1 nor 2 ..

What is the differentiation of log, x with
respect Lo In x ? .

(a) 0O
(b 1
(©)  1/x
d) x

~ What is tan (7% ) equal to ?

(@) /6 + V3 -J2 +2
) . V6 + V3 + V2 +2
(© V8 -3 +2 -2
d J6 + 3 +J2 -2




110, @=1;

y=—tan "t (x 1) + 1, x T & e
BeH & |

@A ; x & sl At 3 fore % S |

fFefifad & @ a9 W e, suRfofas oot &

forrm w2

() @ &= 1 3k Il.ﬁﬁmﬂﬁ‘g‘mﬂ

m:rn,asamla?rwé’rmm%

b o w1 AR I wewr wd 8 R |

mll,mla&ﬁﬂﬁmqﬁ%
(©) Wlﬂ?r%%ﬁmnmé%

(d) T 1w @ feg e 11 udr @

111, g8 2 +y?-2x-2y=0 3R x2+y2=1 &

Q-OEBA-K-NBU

_ fara 3 Feafefas Feel W feor aifse -

1. vem g Y P g 3 B P A g
2 |

2. @@ oElRgA@RAIE |

iR w3 A B T TR A 2

(a) oact 1

(b) &act 2

(© 13k 2

(d Tdr1ak=ad2

112,

113,

114.

133 -A)

A Ao 6 a, b, ¢ TRrR SO0 4 & |

 Frefefed sl R fER S -
111 ' e
1. e goft A & |
1 1 1

2,

Jb+ve' Je+va Jaxdb
R A0 A 8 |

e e 4 e 7w 8 2
(a) o&act 1

(b) &ad 2

(e) 13ﬂ<.‘2a‘|=ﬁ

(@ Ad13dRTIT 2

Inx & WNY log, x BT IGHeH &1 B ?

tan.[?—lz—o) ZERE LR
@ J6 +V3 - J2 +2
() J6 +J3 +J2 +2
© 6 -3+ 2 -2

d J6 + J3 + V2 -2




cos 15° + cos 45°

115, What is the value of 5 5 ? 118,
: .cos” 15° + cos® 45°
1
(a) Z
1
by =
(b} 2
1
(e} =
(d) None of the above
Directions : For the next 3 (three} questions to
follow : 119.
“The vertices of a cube are (0, 0, 0}, (2, 0, 0},
(0, 2, 0), (0,0, 2), (2,2,0), (2,0, 2),(0, 2, 2),
(2, 2, 2) respectively. -
11§.' What is the angle between any two diagonals
of the cube ?
" (a) cos ! (1/2)
(b) cos™' (1/3)
(© cos 1 (1/V3)
(d) cos™ (2/Y3)
. ' , | 120,
117. What is the angle between one of the edges of
the cube and the diagonal of the cube
intersecting the edge of the cube ? '
(a) cos! (1/2)
(b) cos ! (1/3)
(¢) eos™' (1/4/3)-
i
(d) cos™ (2/V3)
Q-OEBA-K-NBU

{34 - A}

What is the angle between the diagonal of
one of the faces of the cube and the
diagonal of the cube intersecting the

-diagonal of the face of the cube ?

(a) cos! (1N§_)
(b) cos (2/43)
: (c} cos™ (\/2/—3)
() cos! (V2/3)

Let a and g be two unit vectors and o be

—
the angle between them. If (a + b)is also
the unit vector, then what is the value of a ?

(a) E

(b) g
@ =
() % -

What is the value of

(0100572 + (001D 2

2

?
{10y,

1005”2 - 0100572 ©o11yV2 + 01D
(3) (0-001),

) (00D),

() (01);

() (D),




115.

(0

. cos15® + cos 45°

. . B A T ?
cos” 15° + cos® 45° :

(a) L

(b)

b | =

W=

(d) JuRfRaa & | = =@

e : amer 3 () we & fow

116.

(D)

117,

Q-OEBA-K-NBU

" (b)

& o7 & ¥ wer (0, 0, 0), (2,0, 0), (0, 2, 0),
(0,0,2),(2,2,0),(2,0,2),(0,2,2),(2,22) 8 |

WS e e sau s aurar g ?
(a) cos™ (1/2)
(b) cos™ (1/3)
(¢ cos™!(1/43)

cos ' (2/V3) -

T B GNP AR T S T B IR Td e &

feaot & G & oo T @ 2
(a) cos~!(1/2)
cos™! (1/3)
(c) cos™t (1/43)

(d) cos™! (2/V3)

118,

119,

120.

(35 - A)

U9 & 0H T & fand qur vm % aed & e
W BICH T U= 6 Fevl & @ @ oo T @ 2

(a) cos”!(1/43)
cos~! (2/V3)

(¢) cos™t (V2/3)

{b)

(d) cos! (J2/3)

T AT R 3 sk b 2 AEs wRw f 3k o
ThAw e | Rk (7 + b) W AEE
e, Aad AR FL ?

(a) T
) %
(0) %"
(d) %
0100572 + o1
1000”2 _ (0300772 0010P"2 1 (011107

& HH @ & ?

(a) (0'001)2

(b) (0-01),

@ M,



SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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Q-OEBA-K-NBU . (37 - A)




SPACE FOR ROUGH WORK
el W & foe smE
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3. 39 W JRas W g ¥ Ry Ses # sme s
Fmie o @ | wew s W sk g T o |

4. 39 am gRker § 120 wwrw (v e 7 d | iR e R sk sk o vo ¥ | v we A
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6. it vl & oic WA ¢ |
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9, oW FW & o 13E qem g & aa A Herd @

" 10. WA IR ¥ R 2vs - ' _

TS WAl A IdleeR g1 e e e IR & e gvs Ran s |

() RS T & e aR dokes R € | R BRI As U & e Re e v Tew 3R & B
%1 g Fraa foe e el & ve-frerd (0-83) <vs & w0 wrer s |

(ii) uﬁaﬂé:mﬂzmuaiémﬁmimém% A Y Tera IO AT O, uuﬁﬁenva?mﬂ@mai
- IR & fra &, fix off 39 wea % fore SuderaR & 38 e @ avs fean amem |
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Note ;: English version of the instructions is printed on the front cover of this Booklet.




